S E

,'@ﬁﬁff:))!d}ii \HEAEM@

=)

<

FEER EH HE B
B BeVRE #1-6 1 145
B’EE a7 2 /10 2
3 /10
DERE DEIREESR 7 8-18 4 /20
DERENEA 7819-33 5 14 5
6 /10
7 /10
8 12 5
R : /100 2

R =

TEES =EH HE B2
DERE DEIREESR -4 1 /20
DHIAIRSES 78 5-10 2 14 5
DEIREFIVRIR S VER %8 11-23 3 /10
4 12 5
VA S IUREFNEE 7 24-26 5 /16 2
WA {ERAEE T 7 27-34 6 10 5
[E758 - RoBNEH 2 35-37 7 /8 5>
R 8 38-40 8 /10
iy /100

FEES Z&H B B
INBISRIE INBEREESR 7118 1 /18 D
INESREBIIE 7819-23 2 18
3 12 5
1 2R BVRE 78 24-25 4 /18 D
BENEE 78 26-29 5 /10
RIOBNIESBEE 78 30-38 6 14 5
7 n2 5
8 /8 5
e /100 2

58 A BRSO R TR

FIBERIGRE 5 T HFalFH ]

1

© IBAHB HRTMERAF

o0o00ooo0oooonono2o022
goboooooOooooOoOooOoOOooOoOoOooOoOO0bOO0O0bOOO00COOO0O0bOOO0OO0OOO0OO0COOO0O0OO0O0O0OO0OO0OOO0O0OOOOOO0O0O0




UL W)

B =B H¥ B85
2B RIOBNIESBEER 215 1 10 2
WA ASHA) 2 78 6-7 2 n2 45
3 n2 5
BR2LOE BRE 78 8-21 4 nr o
B2 ENER 78 22-27 5 19 D
6 105
7 n2 5
8 18
iRy - /100 £
B =B H¥ B85
E BeVRE 81 1 n2 o
B’E8 2 2 /16 2
DEIRE PERENNARSVESRER. | &3-11 3 18 D
WA ASHi WA 1=} 78 12-19 4 /10
INETRE N\&REEENER 78 20-26 5 N4 5
B BENREBNEE 78 27-29 6 /10 2
WA S P 7 /18 2
BRE B2 ENER 78 30-36 8 12
fRsy - /100 2
TRAMAER - BT T EHKREAR - TR
ENBLEZHTGAR  BEEINBESER
BACEVRERDS - SHASBEERERI |
B ARG AT ARSI B2 A5 5 5 T ol T ] 2 O IBEHE HREMBRAR]

o0o00ooo0oooonono2o022
goboooooOooooOoOooOoOOooOoOoOooOoOO0bOO0O0bOOO00COOO0O0bOOO0OO0OOO0OO0COOO0O0OO0O0O0OO0OO0OOO0O0OOOOOO0O0O0



| | A
;'a\l.l I RR* 2 BIRET 4 mo /100 2

HH - WA ) B2
s p— =

1. 632x10=

[]

—_
D

2. 75x0.01=

—_
S

3. 0.045 x 1000 =

N
S

4. 9474x0.001 =

N
D

5. 154 m= cm

N
D

6. 1242 %7 = FF

N
D

3.09 ' 7.6

N
S

N
D

\O
—
)

7.2 ' 23.8 o
X 6.5 X 0.23
)
AR AT A AT S EREES TLABR=1 1 © EA#HE HREMNER A

ooO00oooooooonn2o22
goboooooOooooOoOooOoOOooOoOoOooOoOO0bOO0O0bOOO00COOO0O0bOOO0OO0OOO0OO0COOO0O0OO0O0O0OO0OO0OOO0O0OOOOOO0O0O0



6o B9 /8
37. —f{Ai% K A9cmyiEF R K S
»E S Y mit &k Tem 69/ EF L 2
(7] X5 )

[]

N
)

>
49 cm

—
g
J

038, TEHOIHABRTHR—BEFTHE  EEETEGEMAES )

(5] X=H5H) 47
14 cm
|[€<——]
9 cm
= 46 cm g
— k7 — EREEBE: 5D@
AT AREIZBER%ES %=1 8 O BEHAE KM AR A A

ojd0d00O0O0Onoonn2022
goooooooooooooooooOoooooooooOo0ooboOoOoooOoO0OoOoboOoobOOoO0OObOOOObO0DbOOOODbObOOODbOOOOobObOOODo



24.
25.
26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

238 X 0.8
=190.4
JA4F 1904 7T o
D

A>C'B B8R 2% 2 7>

(a) 10
(b) 12
(a) 44 [B2%& : 4 x 11 =44 (cm®) ]
(b) 52 [ 88 : 4 x 13=52(cm?) ]

Bk [B] 81 2425

[A 9 Xx16=144 (cm®)

B : 9 x 25=225(cm?)

C :9x17=153(cm?®)

AR AR B EERER/ ) RIEE
225-144 =81 (cm®) ]

(@) ecm® (7 ZK)

(b) m® (KL K)

() m® (K=zFK)

(a) 644 x 4 x 4=64(m®) ]
(b) 1080 [ 15 x 9 x 8 =1080 (cm®) ]
(a) 5128 x 8 x 8=512 (cm®) ]
(b) 128 [ 512 + 4 =128 (cm®) ]
1728

[MEEFESEA12cm - ALESETESFLEHERES
6cm AR E2E2TE
(6 X 6 X 6) x 8—1728(cm3)° ]

5

[EMER 560 16 ~7=5(FEXK) ]
364

[BEFER 1 13 X 8 X 7 +2=364 (cm®)
5

[FHR :990 ~ 3~ 11=6=5(cm) ]
TR

17 % 12 X 8

_ 3

= 1632 (cm?) —

—=H— ER15
17 X 12 X 8 xE1D

= 1632

C AR 1632 cm’ o

BN E A RN I B 2R 5E 5 T AT ]

8

37.

©38.

1.

w5 oE ke

(49 = 7) X (49 = 7) X (49 + 7)

=343 ({@)
7§£7

(49 = 7) X (49 = 7) X (49 = 7)

=343

it o I
M A 2t
o N
SRR

"% T E i 343 18

KRB M A
(4614 X 2) =2
=9 (cm)

& 7 ey R AR T

9 X 9 X 14
=1134 (cm?)
_ESZ_

kT REWE A
(4614 X 2) =2
=9 (cm)

& 7 ey R AR L
9 X9 X 14
=1134 (cm?)

Oﬁﬂ

gX 25
ZLR1D
RE1D

R REAE A 1134 cm’ ©

R m

1820

[BET&R2 20 X 14 X (85 X 0.1) =20 X 14 X 6.5

=1820 (cm?®) ]

24

[RIEIH (18 x 6 X 6) + (3 x 3 x3) =24 (&) ]

1274

[EHEERE 21 X 11 x 7=1617 (cm®) » A[E|H
BRHIIEHESE8TE - 7 x 7 X 7 =343 (cm®) - Bt

ZYENHOHEEE

o AL
0.8 X 0.8 X 0.8
=0512 (5 k)
_ER_
0.8 X 0.8 X 0.8
=0.512

11617 — 343 = 1274 (cm®) © ]

o AN
9P W

st o I
i b 2L

THRAE 0512 K o

© IBAEHRBHRTEMER AR
©0000000000002022

goboooooOooooOoOooOoOOooOoOoOooOoOO0bOO0O0bOOO00COOO0O0bOOO0OO0OOO0OO0COOO0O0OO0O0O0OO0OO0OOO0O0OOOOOO0O0O0





